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Q1) Attempt any two parts of the following : [2 × 5 = 10]

a) State the factors which are responsible for high cost in the Indian Chemical industries. What is Oleum and how is it
manufactured?

b) Explain the manufacturing of Urea and name the raw materials and chemical reaction involved for it.

c) Which is the catalyst used in Ammonia production? State various uses of ammonia gas.

Q2) Attempt any two parts of the following : [2 × 5 = 10]

a) What are the major constituents of fertilizer? Write short on Triple super phosphate?

b) What are Nitrogenous fertilizers? Where are these fertilizers used or for which crop growth. Give example.

c) How can we reduce the impact of pollution by fertilizers on the environment?

Q3) Attempt any two parts of the following : [2 × 5 = 10]

a) What are the industrial uses of Chloro-alkali?

b) What are the advantages and disadvantages of Hydro-Chloric acid?

c) Explain manufacturing process of producer gas.

Q4) Attempt any two parts of the following : [2 × 5 = 10]

a) What are the major engineering problems faced during manufacturing of Acetylene?

b) What are the different types of cement?

c) Define ‘Curing’ and why is it important? Write various application of Plaster of Paris.

Q5) Attempt any two parts of the following : [2 × 5 = 10]

a) How are pesticides harmful to the environment and human beings?

b) Name the pesticide commonly used to protect wooden structure.

c) Differentiate between Paint and Varnishes.

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{OE&

à.à.à.à.à.1) {ZåZ ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) ^maVr¶ amgm¶{ZH$ CÚmoJm| ‘| Cƒ bmJV Ho$ {bE {Oå‘oXma H$maH$m| H$m C„oI H$a|& Amo{b¶‘ {H$go H$hVo h¢ Am¡a BgH$m {Z‘m©U H¡$go {H$¶m OmVm h¡?

~) ¶y[a¶m Ho$ {Z‘m©U H$s ì¶m»¶m H$a| Am¡a BgH$mo ~ZmZo ‘| H$ƒo ‘mb Am¡a amgm¶{ZH$ à{V{H«$¶mAm| H$m ^r C„oI H$a|&

g) A‘mo{Z¶m Ho$ Production ‘| H$m¡Z gm Catalyst BñVo‘mb hmoVm h¡? A‘mo{Z¶m J¡g Ho$ uses ^r ~VmAmo&

à.à.à.à.à.2) {ZåZ ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) Cd©aH$ (Fertilizer) Ho$ à‘wI KQ>H$ ³¶m h¡? {Q´>nb gwna ’$m°ñ’o$Q> na g§{já ‘| {bI|&

~) ZmBQ´>moOZ Cd©aH$ ³¶m hmoVo h¢? BZH$mo {H$g ’$gb H$s d¥{Õ Ho$ {bE Cn¶moJ H$aVo h¢? CXmhaU X|&

g) h‘ n¶m©daU na Fertilizer Ûmam àXÿfU Ho$ à^md H$mo H¡$go H$‘ H$a gH$Vo h¢?

à.à.à.à.à.3) {ZåZ ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) Chloro-alkali Ho$ Am¡Úmo{JH$ Cn¶moJ ³¶m h¡?

~) hmBS´>mo-³bmo[aH$ E{g‹S> (HCl) Ho$ ³¶m ’$m¶Xo Am¡a ZwH$gmZ h¡&

g) Producer Gas H$s {d{Z‘m©U à{H«$¶m H$mo g‘PmBE&

à.à.à.à.à.4) {ZåZ ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) E{g{Q>brZ Ho$ {Z‘m©U Ho$ Xm¡amZ {H$Z à‘wI B§{O{Z¶[a¨J g‘ñ¶mAm| H$m gm‘Zm H$aZm n‹S>Vm h¢?

~) gr‘|Q> Ho$ {H$VZo àH$ma h¢& Zm‘ ~VmAmo&

g) ‘Curing’ {H$go H$hVo h¢ Am¡a dh ³¶m| ‘hÎdnyU© h¡?

à.à.à.à.à.5) {ZåZ ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) H$sQ>ZmeH$ n¶m©daU Am¡a ‘Zwî¶ Ho$ {bE {H$g àH$ma hm{ZH$maH$ h¡?

~) bH$‹S>r Ho$ gm‘mZ H$s gwajm Ho$ {bE Cn¶moJ {H$E OmZo dmbo H$sQ>ZmeH$ H$m Zm‘ ~VmAmo&

g) n|Q> (Paint) Am¡a dm{Z©e (Varnish) Ho$ ~rM AÝVa ~VmAmo&
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